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719 A7) AAARESDE B el oldA A s,

71477 AR BST) = ZZHOBAGA = - FEOBAJA £ X 100 + 100
3 #E 29 94 &

% BSI = Business Survey Index (0<BSI=200)

¢ mEbA BSIOl 7lEAE 10001W, 100& =9 we SHCEE,
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¢ ofFH ol AT 18670 AXHFAE HFH(EEA 35 0 6970,
S5 37102 2022 % 3/4%7] 713747 AEE
Az}, 719A7I1AFASFBDE  ‘62.3 = ZAE AL

¢ olF, A3t ABAFT(n=387))S e w 3 A71A
‘60.5" <]

gu B4 A%

[ (N =69)]

A
T & - 2022\d 2/487] A= 2022'd 3/4%7] A%
g 5 (A £7] din)) (A £7] din))
A 7371 75.4 62.3
nf & ol 88.4 78.3
FHel 76.8 68.1
An)EA} 89.9 81.2
AR 75.4 79.7
Apazdol 7 75.4 81.2
A7 81.2 87.0




[4 7313t dBHF(N=38)]

T & ) 2022\ 2/487] AH 2022\ 3/48%7] A%
g & (A &7] 94]) (4 7] diy])
A 771 78.9 60.5
) & o 89.5 81.6
J¢jo]¢] 81.6 71.1
AU EA} 92.1 86.8
AR R R 76.3 86.8
Alazdol 7l 86.8 92.1
3d7Fs7d 86.8 89.5
[ E(N=31)]
T T _ 2022'd 2/4%7] A 2022'd 3/4%7] A%
g 5 (A £7] diH]) (A £7] oiH])
Az 271 71.0 64.5
w = o 87.1 74.2
oJ&o]¢] 71.0 64.5
AH)FEA} 87.1 74.2
FEderdA 74.2 71.0
Azl 7l 61.3 67.7
FATEAA 74.2 83.9

2. A& A3 B4

¢ 20223 3/4%-7)9] oA5A 9 A7 AGASF(BSI, n=69)= ‘62.3 =
ZAE QY. S N 697 (AEA 3eE - 37.1%)

¢ o= 7IFA7] AFA 71 #(EIE7] O8] 95719 7I9A 7]
Azl FLEE dHst= 7IFE )Y 100HEth= 2 o=
“J‘?‘Xg@” ?_]_ 7537’]"1'

¢ 20200 4/4%71E 7)Ho
Zo]= 20224 3/4%-7] )

e AsAE B AAE7

- 89.4(2019\3 3E7])=> 70.6(2019\d 4%E-7])=> 94.1(20203 1&7])=> 73.2(202083
271)=> 58.0(20201d 3:E71)=> 44.1(20201d 4E7])=> 65.2(2021d 127])=>
91.5(2021d 2+&7])=>» 83.8(2021 3&7])=>» 89.3(2021d 4F7])=> 88.4(2022:d
15271)=> 97.1(20223 287])=> 62.3(2022\3 3%7])
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¢ TAAS B gw] Ade 28 x AN BEAZ 94T
G Fom dasyuzy, B ARd mEx md
(50.7%)" > “E3qx EA - 2-H42.0%)7 > “HxH Z23(7.3%)7
com AT

2 A QAQGA7F SdstE A
2 7|g8kA] &5(56.5%)" >
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AU, Bl il ‘YA - A - 84 A 1Al dlA
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5 A= §307.19)7 = “A - 71 B4 KAQ7.19)7 > “A
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